Examlet 2 Foundations of Advanced Math 2;’25/11

1. a) Letd={1,2,4} and B= {1,3,4}. Whatis 4 u B?
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b) Letd={1,2,4} and B= {l,3,i}. What is 4 N B?
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¢) Let C=[0,5]and D = (4, 8). Whatis C—D?
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2. a) Let N"=N-{0}. Let 4,= (0, n) for each n € N*. What is U A7
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'b) Let Ibe a set such that for each i € /, B, is itself a set. Then AN UB:‘ = U(A ~B.).
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3. a) VbeR,ifb>0, then 0<-l23-<b.
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b) VbeR,|p|: 0.
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4. LetAbeaset. Showthat4 -4 = o.
A-A=§EXIxepAr xepd
I‘P X & A*A oSty REE know Fhatk xeA A X& B .

I+ xeA = XEA o noelements appar in beth gets,
Be conse oF This we bmow That A-A wntahs ho elemen ts
Theeedene any element xe A-A ‘vacw’mal/y S ulis v 4
Th-oline “h=fpe g = Buss

Sf\r}ce_ g wn“!‘@!t\"\S no e}e—m% ek lﬁhw ’H,\&+ qn)/ )(6@’
\)mcmc}‘m‘;\y 1% Com”J‘ﬁ,‘\‘\ﬁﬂt I A* A

Thvenere =, Jo A2 h

Becauvse P = ﬁ’L’p @'5«_,4—,4 . L}, duo mﬂs,a“}’
C&L,Uq\f*‘\/ Wwe lé;\ew m'lr A‘A ¥ ;ﬁ’ _:f. J-

%ﬂ% /
e



-%S{d{ note . ‘ _
hTC =CYb

(X 7" % ey a bjc we know additien
o e  (ommonakve
Y \’

0fc hic  Cth7O¥A  (by addibion Principle)
s oy Hronsikivily e con Soy b
ﬁ'gg/éw/.
OAC L N AP iy Bt avdl

5, -a) Va,b,c,de]R,ifa>bandc>d,thena+'c>b+

. -4
B Vahioile il Bt e

3=2 >0 =i
Consider  +w  cose whare B
s B0 Ve
C sl as --L‘
WE Sic Yok . BFh »7 H 30 "5 YEBNQ

“+ +\et C7ad =7 27-4 1S also tr@é-, :

8 el D E . g

Which  we Rwow 4o ke _Qﬂ\gé wle \ ¥4

Thos we have o |eash

Ont Contradidvon
and

Aok P("O*JQ.S g S ‘\'@kmr\-"- ‘o \Q‘l MS-Q





